WEST BENGAL MEDICAL SERVICES CORPORATION LTD

(Wholly Owned by the Government of West Bengal) CIN:U85110WB2008GC126373 2008-09 Regd. Off. Swasthya Sathi, GN-29, Sector-V, Salt Lake

Phone: 033 40340300 Fax: 033 40340400 email id: info@wbmsc.gov.in

<u>Name of work:</u> Construction of Donning & Doffing Room & few civil works In SNCU Area at Islampur Super Specialty Hospital.

NOTICE INVITING TENDER

Memo No: WBMSCL/NIT- 211 /2021 Dated – 29 /06/2021

Managing Director, West Bengal Medical Services Corporation Limited, Swasthya Sathi, GN-29, Sector-V, Kolkata - 700 091, invites sealed bids from eligible contractors with experience of similar nature of work for the work construction of Donning & Doffing Room & few civil works In SNCU Area at Islampur Super Specialty Hospital

The details may be available at Notice Board of WBMSCL & website www.wbmsc.gov.in and to be submitted (offline) on or before 1:00 P.M. on 07/07/2021 at Site Office of WBMSCL at Islampur SSH.

No of Site	1 no.
Estimated Amount	125651.00
Bid Security/EMD	The bidder will have to deposit earnest money Rs. 2513.00 (In the form of DD from a scheduled bank drawn in favour of "West Bengal Medical Services Corporation Ltd").
Security Deposit	3% of the contract amount to be deducted from the Bill for each work.
Releasing of Security Deposit	One year from the date of completion of work
Tender Publication Date	01/07/2021
Last date of Submission of Tender	07 /07/2021 Upto 1:00 PM
Date of Opening of Tender Document	07/07/2021 at 1:30 PM
Validity of Quotation	120 days from the date of opening of the financial bid of the tender.
Time allowed for completion of Work	7 days from the date of Work order for the work
Eligibility of participating bidder	Bonafied reliable and resourceful firm having executed similar nature of Work.

	Intending tenderers should produce credentials of a similar nature of completed work of the minimum value of 40% of the estimated amount put to tender.
Bid opening Venue	Islampur SSH

Prospective bidders are requested to submit the bid in a sealed cover addressed to the Managing Director, West Bengal Medical Services Corporation Ltd, Swasthya Sathi, GN -29, Sector – V, Salt Lake, Kolkata – 700091 within the stipulated date & time.

Bidders are instructed to submit their bid consisting of two sealed envelope called "Qualifying Bid" &" Financial Bid" in the tender box of WBMSCL by hand. Bid will not be taken by postal system/courier.

Documents comprising the bi d: (Bidders are instructed to submit their bid consisting of two sealed envelope called Qualifying Bid & Financial Bid.)

The Qualifying Bid shall comprise the following: -

- a. PAN No.
- b. GST registration no.
- c. IT Return for the assessment year of 2020-21.
- d. Experience in similar field
- E. Duly signed NIT
- F. Trade License

The Financial Bid shall comprise the following:

Applicable Rate Schedules as per printed format on the letter head of the intending bidder.

(Rate must be given in the B.O.Q. provided below, on the letter head of the intending bidder. Rate is inclusive of all taxes, charges in respect of all the sites/location. Any taxes, charges etc shown separately will not be considered. Rate Quote in any other format will be treated as cancelled).

The intending bidder(s) required to quote the rate (percentage above/below/at par) over the total estimated cost put to tender considering that no escalation and / or price adjustment will be allowed by the department under any circumstances.

A bidder shall have to furnish signed "Financial Bid" on their letter head. The financial bid of only of those bidders will be opened who meet all the requirements of the technical bid.

Failing to fulfil the requirements and eligibility criteria set in the bid document will make the bidders Bid invalid. WBMSCL reserves the right to cancel or reject any or all of the Bids without assigning any reason whatsoever.

Sd/Managing Director &
Commissioner, H & F W Department

BILL OF QUANTITY

Name of Work: Proposed construction of Donning & Doffing Room & few civil works In SNCU

ŀ	\rea	at	<u>Islampur</u>	<u> Super</u>	<u>Specialty</u>	/ Hospital

I tem No.	PARTICULARS	Quantity	Unit	Rate	Amount
	Aluminium Works			[In Rs.]	[In Rs.]
1	Supplying profiles of required section made of Aluminium Alloy Extrusions conforming to IS: 732-				<u> </u>
	1983 and IS: 1285- 1975; Annodized (with required				
	film thickness and specified colour / natural) matt finished conforming to IS: 1868-1983 for fabrication				
	of composit door, sliding & casement windows,				
	partitions, formed of basic sections of any ISI				
	embossed / certified make and brand as per direction				
	of Engineer-In-Charge. (Payment will be made on				
	finished length of the work).				-
	(A) In 10-12 Micron thickness Annodizing film				
	I) Natural white k) Movable door shutter				-
	i) Door Frame (Top & Sides)				
		10.200	Mtr.	356.33	3,634.5
	ii) Shutter				
	a) Top Rail	1 000	N /1+10	343.88	/10 /
	b) Bottom Rail	1.800	Mtr.	343.88	618.9
	by Bottom Num	1.800	Mtr.	506.78	912.2
	c) Lock Rail				
		1.800	Mtr.	426.46	767.6
	d) Door Vertical	16.800	Mtr.	375.56	6,309.3
	Glazing clip	10.000	IVILI .	373.30	0,307.0
	J 1	33.600	Mtr.	56.56	1,900.4
2	Labour charge for fabrication and installation of				-
	composite door, window, partitions made from				
	annodized extruded alloy aluminium sections for the				
	following units:-				-
	(B) Partly glazed partly panelled or fully glazed single leaf alunminium swing door made of extruded and				
	annodized alloy aluminium sections, fabrication				
	including cutting to proper shape and size, drilling				
	and aligning, fitted with heavy duty hydraulic action				
	floor sping placed in the floor with mending				
	damages, with top pin assembly of approve make and				
	brand, fitted with in built locking arrangement, flush bolt, glazing clips and all other necessary fittings,				
	fixtures, adhesives and joineries, cutting glass of				
	approved make to requisite shape and size fitting				
	with dry set neoprene or EPDM gasketing, cutting to				
	requisite shape and size panel board (prelaminated				
	particle block) fixing them with glazing clips as per				
	drawing, specification and direction of Engineer in charge.				
	In SNCU area	3.780	SqM	1,449.07	5,477.4

Item	PARTICULARS	Quantity	Unit	Rate	Amount
No.				[In Rs.]	[In Rs.]
3	Supplying EPDM gusket of approved make and brand				
3	as per direction of Engineer in charge.				-
	iii) weather gasket / wool pile for door vertical.				-
	In SNCU Area	8.400	Mtr.		-
1	Supplying hubble free fleet glass of approved make	8.400	Mtr.	21.49	180.5
4	Supplying bubble free float glass of approved make and brand conforming to IS: 2835-1987; (A) clear, toughened glass conforming to IS: 2553-1992 (part-II)				-
	iv) 5mm thick coloured / tinted / smoke glass.				-
		13.455	SqM	661.75	8,903.8
5	Supplying 4 lever mortice lock or any approved make and brand as per direction of the Engineer- in - Charge.				
	i) 150 mm.	0.000	-	107.50	055.1
		2.000	Each	427.59	855.1
6	(A) Supplying Aluminium casted body hydraulic door closer as per I.S.I.				
		2.000	Each	718.31	1,436.6
	(C) Supplying Heavy Duty Aluminium Handle (EBCO Type) (Natural White)				_
	(D) Count in Alexandria and the barbara	4.000	Each	108.60	434.3
	(D) Supplying Aluminium casted body Butt Hinge (KOBRA type). (Natural white)		Each		-
		8.000	Set	63.35	506.7
7	(i) Door stopper.(Brass)	2.000	Each	132.35	264.7
8	Anodised aluminium barrel / tower / socket bolt (full covered) of approved manufactured from extruded section conforming to I.S. 204/74 fitted and fixed with cadmium plated screws: (iii) 100mm long x 10mm dia. bolt.				
	tally roomin long x romin dia. bolt.	2.000	Each	59.95	119.9
9	Filling the gap in between aluminium frame & adjacent RCC / Brick/ Stone work by providing weather silicon sealant over 6mm dia backer rod of approved quality as per architectural drawings and direction of Engineer-in-Charge complete. Upto 5 mm depth and 5 mm width				
	In SNCU Area (3rd Floor)	4.200	Mtr.	84.84	356.3
	i) Fixed partitions. (Unsupported length of vertical member upto 1.5 mtr. Height of both ends of vertical member restrained but panels within 0.9 sq.m.)				

I tem No.	PARTICULARS	Quantity	Unit	Rate	Amount
INO.		3		[In Rs.]	[In Rs.]
	i) Top , bottom & side member.				
10	In SNCU area				-
10		64.800	Mtr.	363.12	23,529.86
	ii) Intermediate member.				
	In SNCU area	14.400	Mtr.	000.40	-
	iii) Clasia a alia	14.400	Mtr.	383.48	5,522.07
	iii) Glazing clip. In SNCU area	85.200	Mtr.		
	III SNCU alea	85.200	Mtr.	56.56	4,818.91
		03.200	IVILI.	30.30	4,010.71
11	Labour charge for fabrication and installation of				
	composite door, window, partitions made from annodized extruded alloy aluminiumsections for the following units:-				
	D) Partly glazed and partly panelled partition or fixed glazing made of extruded and anodised alloy aluminium sections, fabrications after cutting to proper shape and size, drilling and aligning fitted with inbuilt locking arrangement cutting the glass / board (prelaminated / particle / block) to requisite shape and size moulding the edges fitted and fixed glazing clips and dry set neoprine /EPDM gasket, along with all other necessary arrangements for fixing the partition to walls, floors, beams, columns polysulphide sealant for water proofing if necessary complete in all respect as per drawing and specifications and direction of the Engineer in charge.				
	I) For partitions using section of size:				
	a) 63.50 mm x 38.10 mm				
	In SNCU Area	21.600	SqM	837.09	18,081.10
12	Providing and fixing exterior quality Aluminium Composite Panel (ACP) wall cladding on existing Al. /MS frame work with GI brackets, ACP fixed on the existing frame work by folding the edges of ACP panel (Engraving the rear surface of ACP sheet) with CP angles, cleats and strainless Steel screws forming groves at the periphery of ACP panel. Such grooves filled with foam and silicon sealant etc. complete with all materials (but including the cost of silicon sealant), labour, scaffolding and all other incidental charges complete in all respect as per specification and direction of Engineer-in-charge. (Mode of payment is on finished surfacearea of ACP) (b) 4mm thick (0.50mm Al.+3.0mm LDPE +0.50mm				-
	Al. PVDF coating)	12.600	Sa M	3,255.59	41,020.48
	In SNCU Area	12.000	Sq.M	3,200.09	41,020.40
	Cost of civil works including GST and labour welfare cess=				
		0		SaY, Rs.	125,651.00
				of rate (Above +)	
	Quoted Percentage of rate (At Par)				

I tem No.	PARTICULARS	Quantity	Unit	Rate	Amount
NO.				[In Rs.]	[In Rs.]
	Quoted Percentage of rate (Below -)				
	Quoted Percentage of rate in words				

Sd/-Managing Director & Commissioner, Department